



13.7

13.8

Exported on 05/07/2018

Date Selected: 05/07/2018

Group(s): Teagasc Heavy Soils Programme

583

Farm	Cover Date	Farm Cover (kg DM/ha)	Cover/L U (kg DM/LU)	Stocking Rate (LU/ha)	Growth/ha (kg DM /ha/day)	Demand/ha (kg DM /ha/day)	Rotation Length Now(day s)	Rotation Length Back (days)	Grass Allocati on / LU (kg DM/LU)	Grass Intake/Co w (kg DM/cow)	Meal Intake (kg/cow)	Silage Intake (kg DM /cow)
Ballinagree	02/07/2018	556	160	3.47	44	42	21	19	12.0	12.0	7.0	0.0
Doonbeg	04/07/2018	601	214	2.81	39	43	19	30	15.4	16.0	4.8	0.0
Stradone	01/07/2018	552	172	3.21	38	45	30	27	14.0	14.0	3.0	0.0
Athea	02/07/2018	536	193	2.78	56	36	21	21	13.0	13.0	5.0	0.0
Rossmore	02/07/2018	668	176	3.80	57	53	26	17	14.0	14.0	2.0	0.0

47

Milk Summary:

Average

Farm	Milk Date	Litres /Cow	Fat%	Protein%	Kg Milk /Cow
Ballinagree	04/07	29.0	3.66	3.4	2.11
Doonbeg	04/07	26.25	4.05	3.28	1.98

3.21

Disclaimer This application should be used in conjunction with good husbandry practice and should be used only as a guide to grassland management. The use of this application does not effect any statutory requirements. Teaga





Exported on 05/07/2018

Date Selected:	05/07/201	18			
Group(s):	Teagasc	Heavy Soils	Programme	Э	
Stradone	27/06	24.59	3.69	3.26	1.76
Athea	01/07	25.98	3.89	3.35	1.94
Rossmore	02/07	23.57	3.88	3.42	1.77
Average		25.88	3.83	3.34	1.91

Disclaimer This application should be used in conjunction with good husbandry practice and should be used only as a guide to grassland management. The use of this application does not effect any statutory requirements. Teaga





Date Selected: 05/07/2018

Group(s): Teagasc Heavy Soils Programme

Milk Summary:

Farm	Cover Date	Milk Date	Litres /Cow	Fat%	Protein%	Kg Milk /Cow	SCC
Con Lehane	02/07/2018	04/07	29	3.66	3.4	2.11	
Danny Bermingham	04/07/2018	04/07	26.25	4.05	3.28	1.98	
David Brady -	01/07/2018	27/06	24.59	3.69	3.26	1.76	
John Leahy	02/07/2018	01/07	25.98	3.89	3.35	1.94	109
Tom and TJ Ryan	02/07/2018	02/07	23.57	3.88	3.42	1.77	117
Average			25.88	3.83	3.34	1.91	113







Date Selected: 05/07/2018

Group(s): Teagasc Heavy Soils Programme

Fertiliser Summary:

Farm	Cover Date	Last Fertiliser Date	kg of N/ha	N Area%
Con Lehane	02/07/2018			
Danny Bermingham -	04/07/2018	23/06	25	23
David Brady - Tierlahood	01/07/2018			
John Leahy	02/07/2018	30/06	19	58
Tom and TJ Ryan	02/07/2018	02/07	37	51
Average			27	44

Disclaimer This application should be used in conjunction with good husbandry practice and should be used only as a guide to grassland management. The use of this application does not effect any statutory requirements. Teaga

